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INSTRUCTIONS

There may be spare copies of some diagrams in case you need 
them.

THIS DIAGRAM BOOKLET MUST BE RETURNED WITH THE 
QUESTION PAPER AT THE END OF THE EXAMINATION.
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Question 2
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Question 3(b)

160

140

120

100

80
250	 300	 350	 400	 450

Pressure
in kPa

Temperature in kelvin



	 6

Question 4(a)(i)

6
3Li   +   10n      42He  +    H
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Question 4(a)(i)

6
3Li   +   10n      42He  +    H
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Question 6(a)

DIAGRAM 1

metal core

coil of wire
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Question 8(a)
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Question 8(b)(i)

DIAGRAM 1

Oscilloscope settings
y direction: 1 square = 2 V 
x direction: 1 square = 5 × 10–6 s
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Question 8(b)(ii)

DIAGRAM 2

Oscilloscope settings
y direction: 1 square = 1 V 
x direction: 1 square = 1 × 10–5 s
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Question 8(b)(ii)

DIAGRAM 2

Oscilloscope settings
y direction: 1 square = 1 V 
x direction: 1 square = 1 × 10–5 s
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Question 8(a) 
Adapted from: © dny3d/Shutterstock


